10°

10

10

10°

10

10

# HPD hits

H

+

+

T
p
+
+
=

T
—_—

opTIT

5 10 15 20 25 30 35 40 45
# HPD hits

# isolated channels

T
—+

f—
—

# isolated channels

Decision of HBHE Run2 Loose WP

04 02 0 02 04 06
Decision of HBHE Run2 Loose WP

# HPD other hits

10°F
102=—
E -+
10F -I—
3
o I I PP I P I IS B |
0 2 4 6 8 10 12 14 16 18
# HPD other hits
Sum E of isolated channels
103=—
102;
10_41|-
\ M1 I I I IR PP
0 500 1000 1500 2000 2500 3000
Sum E of isolated channels [GeV]
Decision of HBHEIso filter
10°
10°
N TP TP PP (P PP P PP P P I

04 02 0 02 04
Decision of HBHEIso filter

R45 decision

103:—
10°F
10
1.I...I...I...I...I...I...I...I...I...I.
04 02 0 02 04 06 08 1 12 14
RA45 filter decision
Sum ET of isolated channels
10°
10%
10
1 w
P 11 I 1 I PP T IS AR
0 500 1000 1500 2000 2500

Sum ET of isolated channels [GeV]



	Contents
	Page 1


